Vollhardt-Schore, 4
Organic Chemistry 5e O
Ch 17 o

1. Which of the following compounds most

likely generated the accompanying *NMR- ", O
spectrum? ~ O
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2. Organic chemistry is rich with
nomenclature, both IUPAC and common.
What is the correct structure for the
molecule that bears the common name
benzophenone?
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3. What is the major product of the
following reaction?
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4. Aldehydes and ketones react readily
with hydroxylamine (and certain other
primary amines) to yield what product?

O
H;NOH

5. What reagents would allow you to
accomplish the conversion of C=0 to CH,?

A. NaBH,/CH30OH

B. Zn(Hg)/ aq. HCI

C. Hy/Pt

D. H,NNH,, KOH, heat

E. Both B and D are correct.

6. How would you name the following
molecule?
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A. 1-chloro-2-butanealdehyde

I
¢ B. 2-(chloromethyl)butanal

¢ C. 3-chloro-2-ethylpropanal
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D. 4-chloro-4-oxobutane e PN

r C. FPh,

- E. 1-chloro-2-formylbutane

7. What product do you expect from the
reaction shown?
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HO OH 9. What set of reaction conditions is
/\JX necessary in order to effect the following
1'&' A CH; transformation?
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8. Predict the major product of the 5 = I_i@ -
following reaction. - - .
o 3EO
1. Ph;P
A - 1. HOCH,CH,OH, H'
2. NaH, THF -
3. cyd chexanone ] o 1;®
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E. Two of the above sets of reaction
conditions are correct.

10. To which side, if any, would the
following equilibrium lie?
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A. To the right. 'y
B. To the left.

~ O
¢ C. Equally to the right and left.

C D. There is no way to predict this.

C E. This reaction cannot occur. -
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11. Which method would produce 2-
pentanone as the major product? T
CH
H. GO, P
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0 1. MeMigBr
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O 1. propyIMeBr .
- - D.
. H 2 HOH i
¢ C. 3. HyGrQy ( E. None of the above.
S D. Two of the methods will work.
8 E. All three of the methods will work. 13. Predict the product of the following
reaction.
O
12. Predict the product of the following =7 "H PhCHAPPhg
. —_—
reaction.
) O
acetyl chlonde, AlC1,
g .. Ph
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14. Predict the product of the following
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E. None of the above.
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-

—
J

-

CF,CO.H

15. Predict the product of the following

reaction.
1. PH13
H1C{[-12Br
2. NatCOE:
3. acetone

. A. HIM

B. PhCH=PPh;
o &
c. PhCELPPh;  Br
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16. What reagents will produce the
product as shown?
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- KMVnO,, KOH, H,O
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1. HOCH,CH,OH, H'
g 2. EMnO,, KOH, H,O
¢ 5 3HO0H

1. HOCH;CH;OH, H'

) 2. poc
e 3O H
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1. HOCH,CH,OH, H"
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17. Which reagents below will perform the

following transformation? r b

G/\QN . ( © E. None of the above.

© A H,0, H*

~ Ty 19. Provide an appropriate name for the
" B. KMnO,4, KOH, H,0 following ketone.

© . zn(Hg), HCl

© Db. H,, Pd =

©E. Na, NHs (1) O

-

. 2-methyl-5-hexen-3-one

-

. 5- hyl-1-h -4-
18. Predict the product of the following >-methy exen-4-one
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C. isopropyl allyl ketone
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reaction.
(8] ¢ . 1-vinyl-3-methyl-2-butanone
n ! Y ( . None of the above
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20. Predict the product of the following
reaction.
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E. None of the above.



